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01 At 2|l 5,000 5,000 0
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05 322 W0 1,000 1,000 0
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Ha: Fo SN
i B =t NPT (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 5,250
s 5,250
11 dAMEEIXIZE S 10,500 2,568 7,932
OSHASAEHE R S AXAHHY 3
o ¥ uE s =29 10,500
= 5,250
Ea 5,250
307 @120l & 13,200 5,990 7,210
== 6,600
o 6,600
11 AMRISXAEEES 13,200 5,990 7,210
OSHANGAIR 2HE M At 13,200
< 6,600
s 6,600
ZEE HRLUIEN AIHA 25,000 60,200 235,200
= 25,000
201 223 1,750 7,200 25,450
< 1,750
01 AtR2t2|HI 250 2,500 A2,250
Ozl9, 82, Uus S 250
s 250
03 A= SHI 1,500 4,700 A3,200
oglZEs g43H(otsdd 2208 29) 1,500
= 1,500
301 EtE NS 13,250 33,000 219,750
= 13,250
03 A 2E A4S (XL THH) 12,000 0 12,000
OMIIAHIA KIZ(THIIAEI A, MBS, A
QORI S) 12,000
= 12,000
11 AALRHIXIR S 1,250 3,500 A2,250
onlzE #as(S20IS S22
28) 1,250
& 1,250
402 2I2FXH=201H 10,000 20,000 10,000
< 10,000
02 QI A2 AL E R (0IETHE) 10,000 20,000 10,000
OFHEZNEAI 10,000
= 10,000
ndE N9 SEES A 130,000 130,000
307 elztol & 130,000 130,000
11 MEISXAEEXS 130,000 130,000
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c: 2SEXNXNE (SH9 H2)
SA - BB S (B)H) - AIRA A e
o2l =223
5,000,0002 *2604 0+ 130,000
DS 21Z2E2 S0SHH &x2Y 50,000 50,000
201 2Let2AY| 5,000 5,000
01 AlR2t2IH] 5,000 5,000
OEE, 319 L X2H|, AZ=Z = 5,000
301 UBtE A2 45,000 45,000
03 AFSI &= 25 2 (XL L) 45,000 45,000
0DNE 2= SHH X2 45,000
ICT ¢l Q12X SEE=AY 298,558 176,098 122,460
p) 276,158
[ 6.720
= 15,680
101 Q11| 31,548 30,519 1,029
p) 29,181
[ 710
= 1,657
M IIIH2ERSES 31,548 30,519 1,029
28 HOOHLIM 22X 14|
2,629,0002 * 122 31,548
p) 29,181
[ 710
= 1,657
201 LBt A 2,800 2,800 0
p) 2,590
[ 63
= 147
01 AlR2t2IH] 2,560 2,560 0
OICTES =S 23| 2,560
p) 2,368
[ 58
= 134
2 ZB2%H| 240 240 0
OICTHHIA SHEZR2(FEEH)
20,0004 122 240
p) 22
[ 5
= 13
301 LerEAZ 126,883 50,909 75,974
p) 117,363
[ 2,856
= 6,664
03 AFSI & X 25 2 (XL L) 126,883 0 126,883
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&elr 2S=XX3 (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OCAIAII Stz S 2= 126,883
| 117,363
T 2,85
= 6,664
307 212+01 A 137,327 91,870 45,457
| 127,024
T 3,091
= 7,212
11 AR SXAMEE R 137,327 91,870 45,457
OICT & elEXs SEHE=AE 29 137,327
| 127,024
T 3,091
= 7,212
ICT Yl I=Xs SE=SAL (loTdA E2) 24,080 48,160 A24,080
= 24,080
301 LB F 24,080 0 24,080
T 24,080
03 AlZI B & X262 (XY THA) 24,080 0 24,080
OAIAIIH 2 IoTHIA &X
240,800 *100CH 24,080
& 24,080
Zo83 2Y 42,997 38,487 4,510
307 212+01 A 42,997 38,487 4,510
10 AISIS XA EEER2IHIE R 42,997 38,487 4,510
OFCY3 29 42,997
HAsE A2 12,500 12,500 0
HASE A2 12,500 12,500 0
301 LPBNF 12,500 12,500 0
2 AN BEA>HS(HUYAHS, NYTHA) 12,500 0 12,500
OJI=MEEE+=X Y HASHE FES
2 25,0003 *250F *23| 12,500
Ma+S 33,440 74,880 A41,440
= 33,440
I\ kol k= 33,440 74,830 A41,440
T 33,440
201 L2 AH| 2,000 0 2,000
& 2,000
01 At 2elt] 2,000 0 2,000
OYAFHAIE EX2 4X]
500,000 x40 2~ 2,000
= 2,000
301 LB F 500 60,500 260,000
T 500




S FEOIMED
HE: FHoH SN
oel: THol & (SH &)
SA - BB - I(3) - MIRAES ofl &t A HIDEZ
1 AREINES 500 500 0
OMoi+= u=hl 100,000 5 * 12 500
= 500
302 OI=H o2& = 26,440 9,880 16,560
= 26,440
02 QOISR ESE 26,440 9,880 16,560
ool s2+sH 26,440
== 26,440
307 2I2t01 & 4,500 4,500 0
= 4,500
01 22X TS| 4,500 4,500 0
OMoi== Xkt +& 4,500
= 4,500
Nass daotd X 2,919,797 2,680,867 238,930
= 2,062,859
s 76,021
S 218,853
o 572,064
AEArE =& 2,919,797 2,680,867 238,930
= 2,062,859
= 76,021
& 218,853
Ea 572,064
K22 A 1,987,041 1,882,460 104,581
= 1,589,633
= 119,222
s 278,186
101 e124d| 175,834 166,421 9,413
= 140,667
= 10,550
o 24,617
M IRHZZ2NSE 175,834 166,421 9,413
OXBAY NEZZA 175,834
= 140,667
= 10,550
[Ea 24,617
206 M=l 3,000 3,000 0
= 2,400
= 180
o 420
01 MZH| 3,000 3,000 0
OXEZZAIE I+ 8I 3,000
= 2,400
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PSER
o e

el

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HE
0l &y

A H

180
420

307 212t01™

HoH W

1,808,207
1,446,566
108,492
253,149

1,713,039

95,168

11 ARIZXAIE 2=
El

OXEHEAE XAEZZAS

HH W

1,808,207
1,808,207
1,446,566
108,492
253,149

1,713,039

95,168

M H

155,861
31,172
124,689

2,421

101 e124d|

M

155,861
31,172
124,689

2,421

M

155,861
155,861

31,172
124,689

2,421

HoH W

332,146
232,502
29,893
69,751

351,509

219,363

307 212+01&

MW

332,146
232,502
29,893
69,751

351,509

N19,363

H

10 MEISXAAEHE2EHIE2X

OXNH A HE 28| X

40

Mo W

332,146
332,146
232,502
29,893
69,751

351,509

19,363

M

20,800
4,160
16,640

20,800

307 212+01&

M

20,800
4,160
16,640

20,800

H

20,800
20,800
4,160

20,800




2A:
KEH
ool

SA - FE - SRA(3H) - MRAE -

R

By

Ofl &F2H

HMEE
Ofl &k2h

H

16,640

Ax=g X2

i

2,520

2,520

2,520

2,520

2,520
2,520

2,520

A

23,000
4,600
18,400

23,000

307 212t01™

M

23,000
4,600
18,400

23,000

10 Al SXAZEHE 22X

OXSXEHH 43t X2

I

M

23,000
23,000

4,600
18,400

23,000

M H

15,000
3,000
12,000

15,000

M H

15,000
3,000
12,000

15,000

02 QIZEN2AILEZ(0IETHR)
OXS M Jls2Z

-

M

15,000
15,000

3,000
12,000

15,000

22sYs 23N LA

Mo W

288,404
230,724
17,304
40,376

129,917

158,487

308 AHAIEMSOIE

Mo W

288,404
230,724
17,304
40,376

129,917

158,487

Mo

288,404
288,404
230,724
17,304
40,376

129,917

158,487

Ao oA

95,025
76,021
9,502
9,502

100,471

Ab,446

308 At

>
ra

[E#HS0IE

95,025

100,471

Ab,446
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S - B SR(BH) - HIRA - 01l ks

=
0x
Jo

76,021
9,502
9,502

HoH A

1 SJ2S0UetE 4R ASAI S| 95,025 100,471 Nb,446
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76,021
9,502
9,502

Mo A

EPI . i oSy 11,703,102 9,667,378 2,035,724
9,279,425
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1,168,440
1,196,629

AR

H
=]

I'

Il

b

4
1
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9,279,425
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1,193,699

Mo W
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1,146,036
1,146,036

HoH W
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9,168,285
1,146,036
1,146,036

HH W

01 Al EE A GIS (2 REXTHR) 11,460,357 9,487,950 1,972,407
OdA=SN 11,460,357
9,168,285
1,146,036
1,146,036

MW

ME=g=} 31,161 24,013 7,148

308 KFXIEHMSOIS 31,161 24,013 7,148

08 WEJ|20tetEx 31,161 24,013 7,148
(©JME=g={0; 31,161

[ FSESPNE= 87,416 91,722 A4,306
69,932
8,742
8,742

HH W

301 Et2 &= 87,416 91,722 A4,306
69,932
8,742
8,742

HoH W

01 Al EE A GIS (2 REXTHR) 87,416 91,722 A4,306
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